Demand as seen by a purely competitive seller
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Description: In a purely competitive market, the firm's demand curve is perfectly elastic
and the price is the same as the price set in the industry, since the firm is a price taker, not
price maker.
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Luxury Handbag Market
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Description: The excise tax has shifted the supply curve to the left. Result is higher price
for consumers and lower price to producers. Demand is elastic, the producer bears most
of tax burden. Blue area: consumer tax burden. Green area: producer tax burden.



Cigarette Market
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Positive Externalitics - graphical portrayal
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The Market for Pollution Permits

S=supply of pollution
rights (determined by
officials based on
environmental studies)
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Negative Externalities - Gov't solutions
corrective tax
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Negative Externalitities - a graphical portrayal
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Purely Competitive Labor Market Firm in a PC Labor Market
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A tax in the gasoline market
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(.-0..= amount of overallocation

MPH - M5B = externalized costs

e gas creates externalities of consumption, hence
the private benefit exceeds the social benefits
Py-P.= amount of tax per gallon

rectonele O = tax burden born by consumers
rectangle ' = tax burden born by producers




Profit Maximation - the MR=MC Approach

Profit-maximizing case
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Profit Maximation - the MR=MC Approach
Loss-minimizing case
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Profit Maximation - the MR=MC Approach
Profit-maximizing case

PC Industry
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Costs
Total Cost Curves
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Purely Competitive Labor Market Firm in a PC Labor Markel
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Costs / Price

P, costs
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Natural Monopoly

P./Qu - the price/output combination of
the unregulated monopolist

',/ 0., - the secially optimal price/output
\ combination

Py /0, - the "fair-return” or break-even
price set by the government
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Single price monaopolist earning profits
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Natural Monopoly
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If D intersects ATC,, while it's stll
downwards sloping, then economies of scale
present a harrier to entry; Society may be
better oft (more productively efficient) with
£50 only one firm producing this product.
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In order to produce 8 units, it would cost ong firm a total of $320, two firms a
total of $560 and & firms a total of $1200. Clearly the most efficient (least
cost) production is achieved when only one firm produces all the output.
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MP/AP and MC/AVC

Relationship between MP/AP and MC/AC
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Demand and MR for a Monopolist
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Pure Monopolist earningpormal profits
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Pure Monopolist experfencing losses
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Pure Monopolist earning profits
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Constant=cost Industry

Increasing-cost Induostry
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Economic losses foree firms to leave industry. Supply shifts in, price increases. losses are eliminated and
firms again earn normal profit. Equilibrium is restored.



